
Answer keys

   
 Part 1   Part 3 

   
 1 B   17 alertness

 2 C   18 executives

 3 A   19 maximise / maximize 

 4 C   20 disorientation

 5 B   21 comparatively 

 6 B   22 designated

 7 A   23 accompany

 8 C   24 desperation 

   

 Part 2   Part 4 
   

 9 why   25 no (way / chance of) telling | how long 
this/the job/work 

 10 After   26 is | (very) little demand for    
OR   is not/isn't | a lot of/much (of a) 
demand for

 11 between   27 impressed to see/by/with/at | (just) how 
skilled/skilful/skillful  a 

 12 time   28 resignation / resigning / decision to 
resign came | as a (total/complete) 
surprise / shock to 

 13 on   29 was no / was not any vegetation | 
whatsoever in
OR  was nothing | whatsoever growing in 

 14 more   30 the height of | his success 

 15 as    

 16 place    



          
 Part 5   Part 6   Part 7   
          
 31 C 37 D 44 D

 32 C 38 H 45 E

 33 D 39 F 46 C

 34 B 40 B 47 B

 35 A 41 A 48 A

 36 C 42 E 49 E

    43 G 50 B

       51 D

       52 A

       53 C

          

          
          
          
          
          
          
          
          
          
          
          
          
          
          
          



Paper 4: Listening Test
SAMPLE TEST

Part 1 

1 C 2 B 3 A 4 B 5 A 6 C 

Part 2 

 7 olive 

 8 harden 

 9 (simple) pins 

10  (silver) tears 

11  (local) co-operative  OR 
  (local) cooperative  OR 
  (local) co-op

12  (a) chewing gum 

13  ice(-)cream 

14  (clay) pots 

15  stomach 

Part 3

16 B 17 A 18 B 19 D 20 D

Part 4 

21 F 22 E 23 H 24 B 25 G

26 E 27 H 28 A 29 C 30 B

In Part 2, bracketed words do not have to appear in the answer.  


